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The beam is simply supported and loaded 
as shown. The beam  is made up of three 
plates with two joints, Joint A and Joint B, 
as shown. The width of the beam is 20 
mm. The location of the centroid of the 
section is at C as shown. The centroidal 
moment of inertia is 8.63 x 10^(-6) m^4. 
Find the average shearing stress at Joint 
A and Joint B at the section n-n 

Q1

   Lec09 Page 5    



   Lec09 Page 6    



   Lec09 Page 7    



A beam AB supports three loads as 
shown. The material used for the 
beam has a normal stress (sigma) = 
1800 psi and shear stress (tau) = 
120 psi. Determine the minimum 
depth d such that it meets strength 
constraints specified by the given 
stresses
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